FEMHE TRAZS IR FRAFRT
(RATEBERNTHRBRAFRRFUIR T HEERER S
BREZ ZHEH) RBMERBIT Y

— B ER

o [ AR A EE T AR R I B PR A F) (UL R AR “ i A® 7, “ AR 7 8«
5737 48053 7] ) v [ A AR AR AT PR W] [ AR 3 A A PR 2 7]
HEEE T EH R A RAR . IR E K SR st il CHREMO.
[ ARl o P E A A IR A R . ERAA R % ORI Pl sl CHIR
EAKO B A P AR B 4 R ST ) R AR G i 5 P A PR A
AT 7 388 R R 4 O W) A5 5 T S LR ARG RV MR B I BER R e BR A )
7.79%MHL . AT H g HEE R 2 A TR A W] 8.42% A . Hh [EI AT A T
PSR A R 47.82% L. XU AL PR 5TAE A 7] 44.94%JBAL . 3]
LS T A PR STAT A A 26.47% AL Bk 7G5 L T4 PR 7] 35.29% A%
BRI A BRFUE AR 48.44% AL FHAE AT RAT W] $e 4 A R fii 7 S AR L B ¥t
4 (LAFfRR “ARREH.,

FE )T 2019 4E 9 A 17 H A 2019 4F 55 kIS B 45 k2>, s Gl
THARREHAMRPINE, FHAELRUEZRES 5 s (www.sse.com.cn) ## |
R AR 2019 4 11 F 5 H, Fr E 5 i3] v ERIE S B P2 A ot AL (o
I A7 PP P 0 H A — IR S I I A0 15 ) (192489 5 ); 2019 4F 12 [ 3
H o Bl AR v [EIE s 2 S 05 LA 2 sRoxd e [ A A = T4 80 0 et
B 2 ) AT 6 308 RO R R 4 O W) 50 D K 5 7 I SR AR IO U 4 B ORI AL B R
Y BIES AT TANRRMEL, FHBEAH A .

2020 £ 1 H 10 H, wHEZ) i) ERIE R 2 BB O T iz E A0 E
AR A1) 70 IR A R A ) ) e ] Rl 7 7 P A A PR R S AT A S T B4
PN AR ST IR R E T E) GERVFRI[2019]2994 5). H[EZ) /)
R o [EIRIE I 2 BRSO, o A Yk B A o P SO E AT B AE AT, Bl =

1



TR BT EEN BRI

AR AV 507 R ARAIE IS S (O B I 0, T BT 7 AR
T2y RSB RS M B AT W R 7, A2 AU S A
S RS S RS AT R . ¢ BRI
UK R 240077 5 5 5 o 154k 3 2L 0 JBAT (MR P ML 1 1A %

AP 2V T o A A T 0 7 0 DR A ) 2 4T 308 T T
WA T WS VR 2 I SRS V8 4 1 0 I S IR 0 BT HRD) 25501
=. EMFHE

(> e [ 7 T4 R 3 P A TR A 7] AT e B T e A ) 2 0
SR IR SRS R o B S SRS T (IBTRD:

() o A A 3 T4 R 3 FR A TR A 7] AT e T e A ) 2
SUVA R AR RIS 4 W RS SR B (BT

(=0 B UEZ Bt R 2 7] 5 Hp R 2 SR P 3h A A A7 BR 22 = AT
W30 B B T A e o A0TSR W S B 7 O S SR B < T SR AT By 2 A I 55 ]
F8=}

o

.
’

CPOD AR e 7 1B 3 A PR 2 7] 5% i [ A 2 4R P13 A A A7 BR 2 w1 AT
I I S AT G e 2w W SR B 7 O S SR G B B < B ORI AT By 2 AL I 55 I i)
Ei: 8=

o

(BLF B3O



(RETUFEIEST, Jo €+ A AA T T 42 B Zh 00 4 PR A 3] 36 < R 47 3 3 i Fa vy
e 0 0 ) (2 3 B 7= 35 SR MO TE B8 4 B SR IR0 B4R 4 P> 2 S B AT )
ZHEFETD




